
Note: the best way to study for the tests is to:

-Start by reading the lecture notes twice (if you don´t, your study will be of a much lower quality).

-Then, leave the notes aside and answer the weekly questions (I do not value answers that are transcriptions of the lecture notes). If you do this, you’ll have to study much less before for the tests. 
Reserve some hours (perhaps 4) every week to answer the questions. Students who choose not to answer the weekly questions seldom pass the course.

The answers of Week 4’s questions should be handed to me one week after L8. They should be manuscript (not typewritten) and preferably based on schemes (as I do in the slides). Keep a copy for yourself.

Please write WEEK 4 in bold at the beginning of your answers.

Week 4
L7: Keynesian recessive spiral

1. Reproduce the initial scheme of the lecture that indicated that D in Jan was followed by a D of the same value in Feb.

2. Assume now that Id in Mar falls to 10 euros. Explain how in theory the CB might be able to prevent U.

3. Based on the graphs with data about the US economy, tell whether the actions of the CB have succeeded or not. Explain.

4. Why hasn´t the CB succeeded?

5. Assume that, despite the CB’s action, Id in Mar remains at 10 euros. Explain what happens to Cd, S, AD, Output and income:


a) In April.


b) In May.

6. Would the evolution of the economy be better or worse if C behaved according to permanent rather than current income? Explain.

7. Summarize the recessive spiral endured by the economy.

8. As long as S > I, AD in one month leads to a smaller AD in the next month.  Why?
9. So, at which level of income will the above recessive spiral end? Explain.

10. Write the new steady state of the economy with the new values of the variables in the circular flow scheme.

Recall an important idea at this stage:

After the successive declines in output over several months, the rate of utilization of productive capacity is further below the value to which it had fallen in March. Hence investment is unlikely to recover to its initial February value (albeit by now firms have had time to reverse the initial decision to cut investment).
11. Consider the vicious circle:

a) Why is there U?

b) And why is AD low?

12. Consider the initial virtuous circle:

a) Why was there FEk,l?

b) And why was AD high?

L8: Fiscal policy if the economy is initially at FE or below FE.

13.To review an idea from a previous lecture:

a) Why is the velocity of money associated with investment expenditures very high?

b) Why is the velocity of money associated with expenditures on non-durable consumption goods and services very low?

14.Write the virtuous circle of FEK,l = 100€, assuming I is fixed at 50€ and C is 50% of income.

15. a) In this situation, if the government raises expenditure from 0€ to 2€ and the CB keeps interest rates unchanged, will 2 fewer € be available to fund I? Explain.

b) What may thus happen to inflation? Explain.

c) What should then the CB do?

d) What will the effect on the future level of production capacity? Explain.

16. Indicate the two negative consequences of an increase in G expenditure from a FE state of the economy.

17.Write the virtuous circle of U, with Y = 0€, assuming I is fixed at 0 and C is 50% of income.

18. To achieve FE immediately, the government must raise expenditure to which value? Explain.

19. a) To achieve FE after a few months, the government must raise expenditure to which value? Explain.

Clue: calculate the value of S at FE and note that the G+I must be equal to that value.

b) What will be the effect on AD and output in the 1st period? Explain.

c) What will happen to income, C and S in the 2nd period? Explain.

d) What will happen as a result to AD and output in the 2nd period? Explain.

20. When will the virtuous spiral end? Explain.

21. Write the virtuous circle of FE.

22. a) Present the one negative result from the expansionary fiscal policy.

b) Why won’t the production of machines decline?

c) What’ll happen to the production of cars? Explain.

Consider that the, due to the expansionary fiscal policy, the economy is now at FE

23. What will happen if investment remains depressed? Explain.

24. Explain the reasons why we should expect an increase in investment above its depressed level when the economy was in a state of U.

25. a) Write the virtuous circle (not the expansionary spiral) of the economy if investment rises in a way that government expenditure is no longer needed.

b) What’ll happen to public deficits and public debt? Explain.
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